N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
A HSAIEASE A
B HSMY B
el ST 2o (Crol:ael
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
HSAEAE LD 8,119,775 8,501,958 N 382,183
g 300,000
J| 108, 144
= 874,490
iy 6,837,141
HEAE 4 5,467,920 5,769,273 A 301,353
rag 300,000
== 810,000
iy 4,357,920
M=y 24 416,710 245,974 170,736
HMsay 22 186,710 205,974 A19,264
101 214 d| 13,100 16,230 A 3,130
10 JIZtHIZ2E2XNSEx 13,100 16,230 A 3,130
OHAELEHR FHAH(AZLD]) 10,753
—JI2=3 33,810 *4H x60 8,115
—F=XE=H 33,8103 x4 12 1,623
— A2t =& 6,340& *4H x40 Al 2t 1,015
OtEssdE HA(H2D]) 2,347
== 33,810& x 1«50 1,691
—F=XE 33,8103 x1¥ %10 339
— A2t =& 6,340& x1H *50A| 2t 317
201 ereo| 146,760 146,544 216
01 ArR2t2|bl 40,600 33,600 7,000
Ot H| 38,600
—Hsdy Z20= 1,000, 000& *103] 10,000
-5 AF P2 400,000& *103] *4H 2~ 16,000
—dd Y s%= F7 P2
30,000& x1007H 3,000
—SSANES X Y 2e
450,000 *23| x4l A 3,600
—=EE=E H& 1,000 *3,0005 *2JH A~ 6,000
Ol =l 200,000& x10H *13] 2,000
02 =32ZH| 106, 160 112,944 6,784
OZ222=2 <2 HMA 67,660




SN HMSALARA
HE: Y4 F4
o9l HEHY 29 Rk
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ao il b o bRz
e 4,000,000« 122 48,000
—FolerE 2l 300, 0002 *122 3,600
— M54R3 600, 00021 +122 7,200
—HANHRL 500, 0002 +23] 1,000
~FBE 27 1,000,000 *47} A 4,000
—4@@ AR 10,0002 122 1,200
—TV R L AMes SR
80,0002 %122 960
—gsAsy 10,0002 *122 1,200
—AgOrEBEY S 500
Ol =L 16,000
—2SHSHE 2 D
4,000,000 +47H 16,000
OA&ZYIS Y| 22,500
~2SASHE 2 3L
5,000, 00021 #4742 20,000
—HAAE BB 2,500
203 YREAY) 2,250 0 2,250
03 AHFZALRFZY| 2,250 0 2,250
OHMSHY U AT=0IEY 57 2,250
206 MEHI 19,600 38,200 18,600
ST 19,600 38,200 18,600
OBAULHY FAB W2
40,0002 105 *43] 1,600
OBALU4RY 29 W2
100,0002 ¥535 * 103l 5,000
OFAUSRY AGRY = - 2|
2,502 *40% * 1302 13,000
405 THHF S 5,000 5,000 0
01 XAYLSEFHSY] 5,000 5,000 0
ORSAIL £2I1H S 0 5,000
MSHBAL By 230,000 40,000 190,000
401 AlZHIL2 O 230,000 40,000 190,000
01 Al 230,000 40,000 190,000
OZ0IEE 2122 180,000, 00021 #14] 80,000




SA MSAEAE A
M Hsey 54
ool MSHE 29 (£r9): & 2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OIIEFLE HHES 50,000,000 * 14! 50,000
MsEAL 24 2,339,210 1,023,299 1,315,911
< 110,000
i 2,229,210
HMSEALE 28 2e| 120,358 119,747 611
101 Q12| 120,358 119,747 611
10 JIZtHZ2Z2NSEs 120,358 119,747 611
O&Cl 22l 13,652
—JI23 37,4003 »1H %2492 9,313
—RE5gsE 37,4002 1H 116 4,339
=oi& Aldz2el 11,754
—Jl23 32,2003 »1H 2492 8,018
—Ra5dsY 32,2003 x1H 116 3,736
O4a=daf sz 21,735
=] 32,2002 x5FH *100 16,100
PN = 32,2003 x5 »35 5,635
O&U=ZE A 42,743
—JlEa 41,5003 x2%H x249 20,667
—SE85d+E 41,5003 +x2H+116Y 9,628
—EIZ2Y 7,780 x2H *16 Al 2 x50 12,448
OaUxs2 2l 11,754
—JI23 32,2003 »1H x2492d 8,018
—RE5gsE 32,2002 1H 116 3,736
OJIEE = 18,720
—= a2 X H| 130,000 6 H 12 9,360
—wWE2 Xl 130,000& 6 H *12& 9,360
HMSAE 2tel 733,852 433,552 300,300
201 Lpt3H| 548,052 294,452 253,600
01 At 2eld] 38,220 31,500 6,720
OgBh==AH| 29,720
—AZ=ME 2283 M
500& *5,0000H 2,500




A MSAEAE A

M ML

3:!;
S9l: MSAE 29 (S5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
—Z82sy 28 1Y 10,0002 *122 1,200
—AZ2SH HTAUS 28 7Y
10,0002 %107 2 #122 2,000
—YHAZEOIE AL D2ISE 7Y
60,0002 %122 720
—0IPE ¥ HUAR 22| 425 2
10,0009 *33] 300
—sgme A28 7Y
100,000% ¥535 *123| 6,000
~AUHHMSR A28 7Y 500,0008%122 6,000
—ZOD M= 25,0002 %40 1,000
O2Yy+y 2,000
— SIS ALY 300, 00021 *2% 2% 1,200
— A 200, 000! *1% *43] 800
o= 2,000
~TOZARE Y= 80,0002 *10%+23] 1,600
—AYUA L= 50, 00021 *2% *43] 400
OEET 5,00021#102§ +902 4,500
2 ZT2Y 509,832

Os22= ¢ HA 236,572
—NMII23 14,916,000 « 122 178,992
—&J|erE 2eldl 1,066, 120& 12 12,794
—dot=ERs 2,400,000& 122 28,800
—SFNEREE =S 600,000& 23| 1,200
— &3t =Xl 1,000, 000& *2JH 2= 2,000
—==g& =Z A A| 311,500& 43| 1,246
—NSi BEgE 300,000& »2CH 600
—=d% oMY 282 3,000
—d20AF 150,000& « 12 1,800
—AHMEIIHl S 500
—SEotFH 29| 470,000& 123 5,640

O =H| 137,500
—=g& & A= 9,500,000& x8& 76,000




A MSAZASA
M MFLY S

3:!;
2R HEAE 2

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i 2
—ALZXRE &Yl ASH]
112,500 =100 =12 13,500
—aUHs2 H=H| 6,000,000& «8& 48,000
OA& &8l |l 128,960
—SE2SH HE=E 10,000& *3,500m" 35,000
—AT=3 A2 5,000,000& x12& 60,000
— =g & (540l|5t) 5,000& *954 m’ 4,770
—2UEPUY B24 @3 HA
595,000& * 13| *2J4 2 1,190
—+YBRAY HBES AE 7Y
3,500& 2071100 7,000
—2de] FMZAH(MREY)
7,000,000& *3CH 21,000
OXtgh 4 Bl 6,800
—&Cl e XHEFH(3C0H) 6,800
206 THZ=Hl 143,000 139,100 3,900
01 MZ 4l 143,000 139, 100 3,900
Ozsesy el I
200,000& *10&+102 20,000
OFZJIE 2el XM 200,000 *10&*103] 20,000
OAX=0tE =& 2tel UM
200,000& 55 *44 2 +103] 40,000
OAZ=EMT =&Zx el XY
50,0003 x8& *353] 14,000
OU==& 2l XM 50,000 *20& x103] 10,000
OgHIL=2sE 22l I
120, 0002 *100CH 12,000
OMZMSAIE 22T
50,000& *30&+10=! 15,000
O&UNM=s2 2l XM 1,000,000& *122l 12,000
301 YBtEa= 2,800 0 2,800
10 BAIAHIENS 2,800 0 2,800
O&LMEZIOIUE AL 24
5,000& *40E 43| 800
OZCEESIHNE XHT 24t
50,000& x40 *13] 2,000
405 XHeHE S| 40,000 0 40,000
01 XA ESESH=HI 40,000 0 40,000




FM HSAEAE A
S AL

FH: HsNY =
el MSAE 29 CLEE)
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
Oa=Hssd&C2e EH 2
40,000,000& 14! 40,000
M=EAE Fl 500,000 150,000 350,000
401 AUl =204 500,000 150,000 350,000
01 Al&HI 500,000 150,000 350,000
OUHI QI =R & I Z&C] WX
300,000,000 * 14! 300,000
OS4dz2sd g3t & tANED £X
100,000, 000& » 14! 100,000
OSE2E NEE=+ 100,000, 000& 1A 100,000
MEHSAEEYI 275,000 50,000 225,000
401 Al &BIZ20HYI 275,000 50,000 225,000
01 Al&H| 275,000 50,000 225,000
OHOEESEALE B+ 5,000, 000& *6I4 2 30,000
OZA0IHsAIEEd ¥ SF3cl
11,000,000 * 1094 2 110,000
OHUAZ ¥ Z&FZ O2tEH 4X
10,000,000 304 A 30,000
OAZ=I3 HUAE 2 FERE 8A B
= 40,000,000& =14 40,000
OHUAH SIEZE &X 25,000,000& x2H 50,000
OxNlte=3% 23JI7 &X
15,000, 0003 * 14! 15,000
HOIEEH =4 710,000 100,000 610,000
& 110,000
= 600,000
401 A &BIZ20HYI 710,000 100,000 610,000
& 110,000
[ 600,000
01 Al&HI 710,000 100,000 610,000
OLEHAOEEE =4 250,000, 0003 * 1A 250,000
OHNZHOIEEER E3aA & FHEAS
Xl 90,000, 000& * 1A 90,000
== 50,000
i 40,000
OZOtHOIEZE B4 2=+
60,000,000 * 14 60,000
== 60,000




A MSAEAE A

XY 24
ol SN 29 (SHol:®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OO0ISHOIEZSE HIJIEAIE &X
150,000,000& * 1A 150,000
OL3HOEEH XHAIE &X
10,000,000 * 1A 10,000
OLNSEHOIEZSH HIJIEAE &X
150,000, 000& * 1Al 150,000
SZ2MSAIE &= 2,712,000 4,500,000 A 1,788,000
g 300,000
= 700,000
iy 1,712,000
aFstHANAMESE &4 1,002,000 1,300,000 298,000
== 500,000
iy 502,000
401 Al&EHILE204H] 1,002,000 1,300,000 A 298,000
= 500,000
iy 502,000
01 Al&H] 1,000,000 1,300,000 A 300,000
OMZSANLHSRATH
1,000,000, 000& 14! 1,000,000
& 500,000
= 500,000
03 Al&20iYI 2,000 0 2,000
OaFstdiMdNEsATY 2,000
FHMEN=ESE T4 300,000 200,000 100,000
g 300,000
401 AIEHIZL =204 300,000 200,000 100,000
g 300,000
01 Al&H] 300,000 200,000 100,000
OFHMERS DL 300,000,0002 14} 300,000
Ry 300,000
Dx=s4d2sd &4 150,000 500,000 350,000
401 AIEHIZL 20| 150,000 500,000 350,000
01 Al&H| 150,000 490,000 340,000
ONZBE2SH =4 150,000, 0002 14} 150,000
MEH=2 &4 400,000 0 400,000
401 Al&EHIZE20iH] 400,000 0 400,000




A HSAIEASE A
B MY S
o SSHBALE &= (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 Al&bI 400,000 0 400,000
OMEts2 2XI0HY 400,000,000& =14 400,000
HSlAEZ X SESEIRS 800,000 0 800,000
= 200,000
iy 600,000
401 AlZHIZLE204Y] 800,000 0 800,000
& 200,000
o 600,000
01 Al&H| 800,000 0 800,000
OYHAZXIIASSEIE3 HEHEHS
24 100,000,000 * 1A 100,000
02010 M=2HMAUH AEZXI3 Al
= 700,000,000 14! 700,000
= 200,000
= 500,000
OssE2ss &4 60,000 700,000 A 640,000
401 AIEHIZL =204 60,000 700,000 640,000
01 Al&H| 60,000 700,000 A 640,000
O0lss&82sd AAEH 60,000
ALX OIAHE 2,257,625 2,373,967 N 116,342
| 108, 144
& 64,490
iy 2,084,991
MEs 24 & & 410,328 449,160 38,832
J| 88,394
= 17,683
iy 304,251
M= KX BRI 139,968 123,480 16,488
J| 62,784
iy 77,184
307 QIZtOlA 139,968 123,480 16,488
J| 62,784
iy 77,184
02 OI2tZAH X 139,968 123,480 16,488
OXNEX =¢ 1,524,000& x6H x12& 109,728




S A
X XH .
(=

chel:

- Col(3) - HRAY - BaS Aro B =2
Oil &t o8
J| 47,664
i 62,064
OZIN k= 215,000 6 H 123 15,480
Il 7,740
i 7,740
ONHl 205,000 6 H 12 14,760
| 7,380
o 7,380
MY HEMSEXNTX BHX 23,328 20,580 2,748
Il 10,464
= 12,864
307 212+0l 23,328 20,580 2,748
| 10,464
= 12,864
QItFAE X 23,328 20,580 2,748
OPNI=PNES, 1,524,000 x1E + 123 18,288
| 7,944
2 10,344
O4EE 215,000& 18123 2,580
J| 1,290
i 1,290
OO0l 205,000 1 x 122 2,460
Il 1,230
i 1,230
MEsws 29 25,200 28,000 22,800
| 5,040
= 5,880
= 14,280
307 QIZt0IA 25,200 28,000 22,800
| 5,040
L= 5,880
= 14,280
IRt A E X 25,200 28,000 A2,800
OMSswa 2 (2004A)
1,260,000& 201 & 25,200
| 5,040




RIS AL AFRS 2
AZE DIHE
MEHE 4 2 NS

SN EE - ER(EN) - NRAY - BaS sl e HlRE2

= 5,880
i 14,280

Majs T2 29 12,240 13,600 21,360
Il 6,120
= 6,120

307 QI2t0IA 12,240 13,600 A 1,360
Il 6,120
= 6,120

02 QltF&E=X 12,240 13,600 21,360
OXN&EXR =< 450,000 7 E *33] 9,450
Il 4,725
i 4,725
OF5-28 83 7Y 1,800
Il 900
[ 900
O=&H| 990
g 495
fiis 495

HMSHSH™ A 7,972 0 7,972
Il 3,986
= 1,993
= 1,993

307 QI2t0IA 7,972 0 7,972
Il 3,986
= 1,993
2 1,993

02 glztFaEx 7,972 0 7,972
OHMSH*X 7,972
o) 3,986
< 1,993
i 1,993

2k MEM=s XA 5,000 5,000 0
L= 5,000

307 QI2t0IA 5,000 5,000 0
= 5,000




SN HSALA A
Mo AE= OHE
o9 MBS S4 2 X8 Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
VIEEEEEES 5,000 5,000 0
OFHE MBHSHE &It N
2,500,000 x23] 5,000
< 5,000
MEH =S ANSAE 249 2,000 2,000 0
& 1,000
2 1,000
307 QI2t0IA 2,000 2,000 0
= 1,000
= 1,000
02 BSltF&E=X 2,000 2,000 0
OF=gl.] 5,000& x10Z 10 500
= 250
2 250
o83l 700
= 350
- 350
Oz 2| 800
[ 400
fiis 400
Hajs =4 A 165,000 242,000 ATT7,000
307 glz2told 165,000 242,000 AT7,000
02 fltFAE=xX 50,000 242,000 A 192,000
OMEBRSEIS 22 X 50,000
04 BIZtHALE X 115,000 0 115,000
ON208 & MBHSHE HIt X2
60,000,000& =13l 60,000
OMEHSIes USHAX
25,000,000 14! 25,000
OM48l ZALHE H2AMESEIIX
10,000,000& * 12l 10,000
O U LT MEIST HIIX
20,000,000& * 12l 20,000
Zojol HSSotel 2 7,620 5,000 2,620
= 3,810
= 3,810
307 QI2t0IA 7,620 5,000 2,620




A MSAEAIE A
M ARX OHE
Gl MERHIS sS4 2 X8 (crel: &2
_ = A
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ofl At ot Husz
307 elztold LS 3,810
[ 3,810
02 RIUHBHEX 7,620 5,000 2,620
OZMAMESO0tel 24 3,810,000& *2JH 2~ 7,620
[ 3,810
o 3,810
o XM= NA 22,000 9,500 12,500
307 2I2rold 22,000 9,500 12,500
02 UANHFHEX 22,000 9,500 12,500
Osotel=dlizl S 2,500
oMY Mswd =9 7,000
ORM173 Z&=0tel HMSUE
10,000,000 «12 10,000
ORM42l HoHeln eMots stltses32l
2,500,000& *13] 2,500
dEdsgds Xd 378,157 347,767 30,390
) 19,750
== 46,807
= 311,600
Sddt 29 227,200 215,200 12,000
301 LetEa= 227,200 215,200 12,000
" oi=ga -  2SEsS2Eds 227,200 215,200 12,000
OF=1] 2,500,000 x5 » 122 150,000
Og==2dl 82,0003 x5 100 41,000
Osd gl ¢ 1,000,000 65 *13] 6,000
OFd & = 10,000
Osgd0u3 3,000
O)= =1 10,000
O=JtthEd> =& 600,000 122 7,200
Sdd+¢ AH 23,557 20,367 3,190
& 23,557
301 2etEH= 23,557 20,367 3,190
LS 23,557
1M d=ta - 2SFSEd3 23,557 20,367 3,190




SA MSAEAE
HM: ALX (OFHE
ool MEXNSEE N (crel:®e)
A -3 -H2A(SH) - HEAMY - BES O AF K glggf; Hlws2
Og==¢tl 23,557
& 23,557
sS0HE 44 R4 e g T& 43,000 59,000 A 16,000
| 19,750
& 23,250
301 YBtEa= 43,000 59,000 A 16,000
J| 19,750
& 23,250
02 Hesdsi=a 43,000 59,000 A 16,000
O&s= XA 500,000& *43H x23] 43,000
| 19,750
= 23,250
SME N 84,400 53,200 31,200
307 glz2told 24,400 23,200 1,200
02 QUAFAEX 24,400 23,200 1,200
ONdZNESXNEA K& 600,000& 2«12 14,400
O SAMSAA 5,000
OMs=s<std X& 500,000& 10X 5,000
308 XXEHMSOIE 60,000 30,000 30,000
06 WEI|Z0CHetEXS 60,000 30,000 30,000
O=s1 =42 & 20,000, 000& *3H 2~ 60,000
HEHsegdL i 1,469, 140 1,577,040 107,900
d=03 |X L K= 1,153,500 1,204,000 250,500
201 eIy 1,500 1,500 0
01 AtE2teltl 1,500 1,500 0
O=gHt| 5,000 x2H 150 1,500
307 glz2told 1,152,000 1,202,500 250,500
02 BIZHANEZX 1,022,000 0 1,022,000
Od=0s =3 137,500, 000& 63| 825,000
OZ3ex & =tAlsl X& 197,000
04 QIZHHAIE X 130,000 1,202,500 A 1,072,500
O=HMUay #3Us X 130,000
HM=HAL XI& 315,640 265,000 50,640
|




A MSAEAE A
HM: AZX OIHE
2P s8N (et &HH)
. _ o PSRE
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 Ofl At ot Blusz
201 2et=g 33,000 0 33,000
01 AtR2tcidl 10,000 0 10,000
OLAZ=0HHE 822 MH
2,000,000 55 10,000
03 &A= 23,000 0 23,000
OMSHMNE 225 2
500,000 x 105 *42] 20,000
OgAIE 87 300,000 *10H 3,000
202 O 1,500 0 1,500
01 =2UWdHl 1,500 0 1,500
OAZ=0E ot 20,000 3 x25& 1,500
301 Et2a =3 540 0 540
12 JIet2a=3 540 0 540
OSLIYSANFTHAIYA2 4
90,0003 x3H 23] 540
307 elztold 280,600 265,000 15,600
02 UAHAHEx 280,600 265,000 15,600
Ox=3 29 50,000
O2Z=U3 RAEF =4 20,000
SerdsrZydy dx(2E)HME 28>
2d 3,600
OMUMEA(A=EE)HESNT SSKE 10,000
OX=ZHAEEN oz Sd5s(54)X 2,000
O=U & 2= dX=8E X2 20,000
O HHMFHAL NS
4,000,000& *10EH Al 40,000
OHl482l =2IM=U=l &HItXIE 130,000
OF2HM& FILA4 SH=<H A& 5,000
BHSAFH(MSAILAL L) 394,230 358,718 35,512
elg 2EH 337,980 298,068 39,912
H2EH(MSHEE) 166,167 150,393 15,774
101 el 162,963 146,873 16,090
09 RIAHA2ZE2NES 162,963 146,873 16,090
Oz2lgla el 10,342
—J2s 30,9003 x1&»251& 7,756




SA MSAEAE

Y HH2HAH (MSAEAIL D)
29
- o

Chol: olet2 o) Rk
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
T E] 7,756,002 1/3 2,586
ORHSUE 22 11,162
-ol2a 33,3501 %1% %2512 8,371
— 4012 8,370,85021/3 2,791
ONEEYE 2o 20,683
—Jle3 30,9002 x224 x2512 15,512
— 4013 15,512,0002%1/3 5,171
OBAESE B2lo L A 31,024
-o123 30, 90021 38§ x25124 23,268
— 4012 23,267, 7002 *1/3 7,756
OBAASRR YA 1,522
—Jl=az 33,3502 %1% %2512 8,371
— 4013 8,370,850 1/3 2,791
— x2S 30,0002 *122 360
OJIEtE % 78,230
—4g 53,270
- QlEag 40,0002 *3% * 122 1,440
R28Y4+Y 30,9002 %6 * 1142 21,136
RIEY+Y 33,3502 %2 * 1142 7,604
- RREEINAY 30, 9002 *624 %172 3,152
R EEINY 33,3502 %23 #1724 1,134
AR ERAS(0lR)
5,8002! %6 * 10A] 2t 122 4,176
N2tRI2 R4 (0]R)
6,260 %2 * 10A] 24+ 122 1,503
ANZtel 2Ry
5,800 *6 2 * 16l 24+5221/3 9,652
AZtel 2R g
6, 2602 22 16 Al 24 #5235 1/3 3,473
D LE 13,0002 +82 122 12,480
~REB XY 130,0002 884 122 12,480
203 AREY| 3,204 3,520 ~316
02 FAIIARFAY| 504 520 A 16
O 36,0002 *14% 504




M MSAEAEL

HMa: WHSAZAM (MSAEASL)
chol: ol g CERE
_ _ _ PSIEl
SA - S (BH) - MRAY - B2 Of] AF oK e HDE2
VEEPEEEEEST 2700 3,000 300
OFAN2Y 225,000& =128 2,700
ol AH| (MAILE) 171,813 147,675 24,138
101 Q14| 171,813 147,675 24,138
09 RIIHAZE X2 171,813 147,675 24,138
O&C| 22| 55,807
22 33,3503 x5 251 41,855
—&0= 41,854,250 x1/3 13,952
OAZXNOIT 2z 20,683
J=3 30,9002 <22 %2512 5,512
—a2 15,511,8002 *1/3 5,171
O=Ha ot 22 10,342
22 30,900 x1H x251 7,756
—&0= 7,755,9002 %1/3 2,586
OJ|EtE =% 84,981
—=4g 56,792
S=5U4E 30,9002 *3H 114 10,568
Sa5dxE 33,3502 x5 «114L 19,010
AXRSEIIIEE 30,900 x3¥ x 17 1,576
SN SI=EK=p) Esg=y 33,350 x5 H x17L 2,835
Ao asac (o)
5,800& 3 *10Al 2tx12& 2,088
Ao ac ()
6,260 *5H x10A| 2tx12& 3,756
AR (AHE oY)
5,800 x1x15A| 2tx51== 4,437
N EEC P TE e
5,800@ 2% x15A] 2tx12& 2,088
< A2 XS (&L 22)
6,260 *5H x15A 2Hx12& 5,634
- RE S 40,000 x10H x12& 4,800
—JHAE2(5E 0 A 3,229
- ©J1(33,350€) 3,3403 2 x251L 1,677
. £7H(30,9008) 3,000 x2 %2512 1,552




FM HSAEAE A
X ZH: BH K
(==l I (==}

cel: o2 g (&9 da)
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
— a4 8 XH| 130,000 8 x12& 12,480
—WEEXH| 130,000 x8H x 122 12,480
JlE23&Hh| 56,250 60,650 N4 ,400
Jl2ddl(Nssddd) 33,250 32,650 600
201 B2 IH| 12,250 10,650 1,600
01 ArR2t2|bl 12,250 10,650 1,600
OZN2Y dEt=2H| 10,000
OFAN2E S| 2,250
202 O44| 21,000 22,000 A 1,000
01 ZUWdHI 21,000 22,000 1,000
OZM2Y ol 6,000
O=2WAHbI 20,000 *5H x 150 15,000
J2Hdl(HMEALE) 14,000 14,000 0
202 O44| 14,000 14,000 0
01 =2WAbI 14,000 14,000 0
O=LHA bl 20,0003 *5H x 140 14,000
J23H(AEZ=0IHEE) 9,000 14,000 A5,000
202 O4H| 9,000 14,000 A5,000
01 =2WAbI 9,000 14,000 A5,000

O=UWoHl 20,0003 x3& 150 9,000




